Reciprocal Transformations of Two Camassa–Holm Type Equations*

LI Hong-Min (李红敏), LI Yu-Qi (李玉奇), and CHEN Yong (陈勇)[†]

Shanghai Key Laboratory of Trustworthy Computing, East China Normal University, Shanghai 200062, China

(Received August 27, 2015; revised manuscript received October 14, 2015)

Abstract The relation between the Camassa–Holm equation and the Olver–Rosenau–Qiao equation is obtained, and we connect a new Camassa–Holm type equation proposed by Qiao etc. with the first negative flow of the KdV hierarchy by a reciprocal transformation.

PACS numbers: 02.30.Ik, 02.30.Jr

Key words: Camassa-Holm system, Reciprocal transformation, Bi-Hamiltonian structure

1 Introduction

The Camassa-Holm (CH) equation

$$m_t + um_x + 2u_x m = 0, \quad m = u - u_{xx}$$
 (1)

is derived by Camassa and Holm as a model for the propagation of shallow water wave.^[1] It is completely integrable with a Lax pair and can be written as a bi-Hamiltonian form^[1-2] by rearranging the Hamiltonian operators of the KdV equation,^[3]

$$m_t = -(\partial - \partial^3) \frac{\delta H_2}{\delta m} = -(m\partial + \partial m) \frac{\delta H_1}{\delta m}, \qquad (2)$$

with Hamiltonian functionals

$$H_1 = \frac{1}{2} \int (u^2 + u_x^2) dx,$$

$$H_2 = \frac{1}{2} \int (u^3 + u u_x^2) dx.$$

In fact the CH equation is linked to the first negative flow of the KdV hierarchy by a reciprocal type transformation.^[4-5] It is solvable via inverse scattering transformation,^[6-9] and a large number of works concern about the solutions of it such as multi-soliton solution, algebro-geometric solution.^[10-12] Besides, nonlocal symmetries and a Darboux transformation of it are studied in Ref. [13]. It is worthwhile to remark that, unlike the KdV equation, the CH equation possesses peaked soliton solutions which are weak solutions with discontinuous first derivatives,^[1-2,14-15] and the equation admitting peakon solution is called CH type equation.

The Olver–Rosenau–Qiao (ORQ) equation

$$n_t + [n(v^2 - v_x^2)]_x = 0, \quad n = v - v_{xx}$$
(3)

is proposed by rearranging the Hamiltonian operators of

the mKdV equation,^[16] and can be written as

$$n_t = (\partial - \partial^3) \frac{\delta \hat{H}_2}{\delta n} = \partial n \partial^{-1} n \partial \frac{\delta \hat{H}_1}{\delta n}, \qquad (4)$$

where the Hamiltonian functionals are

$$\hat{H}_1 = \frac{1}{2} \int (u^2 + u_x^2) dx,$$

$$\hat{H}_2 = \frac{1}{24} \int (3u^4 - u_x^4 + 6u^2 u_x^2) dx.$$

Furthermore, the ORQ equation is integrable with a Lax pair^[17] and may be derived from the two dimension Euler equations.^[18] It is interesting that this equation has a reciprocal link to the (modified) KdV hierarchy^[19] and is also solvable by inverse scattering transformation.^[20] Formation of singularities and the existence of peaked traveling-wave solutions, which have only constant amplitudes for the ORQ equation are discussed in Ref. [21].

Recently, a hybrid system that combines the CH and the ORQ equations is $proposed^{[22]}$

$$m_t = k_1 [m(u^2 - u_x^2)]_x + k_2 (2mu_x + m_x u),$$

$$m = u - u_{xx},$$
(5)

where k_1, k_2 are arbitrary constants. The above equation is a bi-Hamiltonian system using the Hamiltonian operators of the CH and the ORQ equations, i.e.,

$$m_t = \left(k_1 \partial m \partial^{-1} m \partial + \frac{1}{2} k_2 (\partial m + m \partial)\right) \frac{\delta \tilde{H}_1}{\delta m}$$
$$= (\partial - \partial^3) \frac{\delta \tilde{H}_2}{\delta m}, \qquad (6)$$

where

$$\widetilde{H}_1 = \int (u^2 + u_x^2) \mathrm{d}x$$

*Supported by the Global Change Research Program of China under Grant No. 2015CB953904, National Natural Science Foundation of China under Grant Nos.11275072, 11375090 and 11435005, Research Fund for the Doctoral Program of Higher Education of China (No. 20120076110024), The Network Information Physics Calculation of basic research innovation research group of China under Grant No. 61321064, Shanghai Collaborative Innovation Center of Trustworthy Software for Internet of Things under Grant No. ZF1213, Shanghai Minhang District talents of high level scientific research project.

[†]E-mail: ychen@sei.ecnu.edu.cn

© 2015 Chinese Physical Society and IOP Publishing Ltd

http://www.iopscience.iop.org/ctp http://ctp.itp.ac.cn

$$\widetilde{H}_2 = \frac{1}{4} \int \left(k_1 u^4 + 2k_1 u^2 u_x^2 - \frac{1}{3} k_1 u_x^4 + 2k_2 u^3 + 2k_2 u u_x^2 \right) \mathrm{d}x \,.$$

Moreover, a Lax pair and infinite sequences of conserved densities as well as the peaked soliton (peakon) and multipeakon solutions of the Eq. (5) are also studied.^[22]

The aim of this paper is to give the detail relations between the CH equation, the ORQ equation and the first negative flow of the KdV hierarchy, and to apply a reciprocal transformation to the hybrid system (5) as well.

2 The Relation between CH Equation and ORQ Equation

It is well known that the CH equation is reciprocal linked to the first negative flow of the KdV hierarchy(See [5, 23] etc.), and the ORQ equation is also connected to the first negative flow of the (modified) KdV hierarchy by a reciprocal transformation.^[19] Then a nature idea arises that what is the relation between the CH equation and the ORQ equation? These may be illustrated by the following graph

$$\begin{array}{c|c} CH \xrightarrow{\text{reciprocal}} KdV \\ \hline & & \\ ? & & \\ ORQ \xrightarrow{} & \\ \hline & & \\ reciprocal} KdV \end{array}$$

In this section, we will present the reciprocal transformations between the CH equation, the ORQ equation and the first negative flow of the KdV hierarchy respectively, and then we will construct the transformation between the CH equation and the ORQ equation.

The Lax pair for the first negative flow of the KdV hierarchy is

$$\begin{split} \varphi_{yy} + Q\varphi - \lambda\varphi &= 0 \,, \\ \varphi_\tau - \frac{1}{2\lambda} \Big(p\varphi_y - \frac{1}{2} p_y \varphi \Big) &= 0 \,, \end{split}$$

and the compatibility condition of the Lax pair yields

$$Q_{\tau} = p_y, \quad \Omega \cdot p = (\partial_y^2 + 4Q + 2Q_y \partial_y^{-1})p_y = 0.$$
 (7)

Integrating the condition $\Omega \cdot p = 0$, we get

$$pp_{yy} - \frac{1}{2}p_y^2 + 2Qp^2 + f(\tau) = 0, \qquad (8)$$

where f is an arbitrary function of τ . For non-zero f, scaling p as $p \to \sqrt{2fp}$, we get

$$Q = -\frac{p_{yy}}{2p} + \frac{p_y^2}{4p^2} - \frac{1}{4p^2}$$

and therefore after a redefinition of the time τ , we may regard the first negative flow of the KdV hierarchy (7) as the following form

$$Q_{\tau} = p_y, \quad Q = -\frac{p_{yy}}{2p} + \frac{p_y^2}{4p^2} - \frac{1}{4p^2}.$$
 (9)

Then, we will relate the flow (9) to the CH equation (1) and the ORQ equation (3) by two different reciprocal transformations. Because the two reciprocal transformations are the inverse of the transformations which transform the CH equation (1) and the ORQ equation (3) to the the first negative flow of KdV hierarchy (9) respectively, here we only give the results.

On the one hand, set $m = p^2$, $u = p^2 + p_{y\tau} - p^{-1}p_y p_\tau$, then we have a reciprocal transformation

$$dx = -p^{-1}dy + ud\tau, \quad dt = d\tau.$$
 (10)

Under the new variables x, t, the first negative flow of the KdV hierarchy (9) is transformed to the CH equation (1).

On the other hand, let $n = -2p/(p_y + 1)$, $v = -2p + (p_y p_\tau + p_\tau - pp_{y\tau})/p^2$, then we can define a reciprocal transformation

$$dx = \frac{2}{n}dy + \left(p^2 - \frac{p_y p_\tau + p_\tau - p p_{y\tau}}{p^2}\right)d\tau,$$

$$dt = \frac{1}{4}d\tau.$$
 (11)

Under the transformation (11), the first negative flow of the KdV hierarchy (9) is transformed to the ORQ equation (3).

Then the relations between the three equations are clear, and we have the following result.

Theorem 1 The Camassa–Holm equation is transformed to the Olver–Rosenau–Qiao equation by the transformation

$$x' = x - \frac{1}{2} \ln m, \quad t' = \frac{1}{4}t,$$
 (12)

together with

$$n = \frac{4m^{3/2}}{2m - m_x}, \quad v = m^{-1/2}(m + u + u_x).$$
(13)

Proof On the one hand, from the definitions (10)-(11), we have

$$dx' = \left(1 - \frac{m_x}{2m}\right) dx - \frac{m_t}{2m} dt, \quad dt' = \frac{1}{4} dt,$$
$$dx = \frac{n}{2m^{1/2}} dx' + nm^{-3/2} m_t dt', \quad dt = 4 dt'.$$
(14)

Then for any smooth function g(x, t, m, n), we have $g_{x'} = (1/2)g_x nm^{-1/2}$, so direct calculation shows that

$$v - v_{x'} = 2m^{1/2}$$
.

Besides, from the definition of n, we get

$$n - \frac{1}{2}m^{-1}nm_x = 2m^{1/2},$$

therefore we have

$$n = 2m^{1/2} + m^{-1/2}m_{x'} = (1 + \partial_{x'})2m^{1/2} = v - v_{x'x'}.$$
 (15)
One the other hand

One the other hand,

$$dn = n_{t'} dt' + n_{x'} dx' = dn = d\left(\frac{4m^{3/2}}{2m - m_x}\right)$$

$$= \left(\frac{3m_xn}{2m} - \frac{1}{4}m^{-3/2}n^2(2m_x - m_{xx})\right) dx + \left(\frac{3m_tn}{2m} - \frac{1}{4}m^{-3/2}n^2(2m_t - m_{xt})\right) dt.$$
(16)

Substituting (14) into (16) we get

$$n_{x'} = \left[\frac{3nm_x}{2m} - \frac{1}{4}m^{-3/2}n^2(2m_x - m_{xx})\right]\frac{n}{2m^{1/2}}, (17)$$

$$n_{t'} = \left[\frac{3nm_x}{2m} - \frac{1}{4}m^{-3/2}n^2(2m_x - m_{xx})\right]nm^{-3/2}m_t$$

$$+ 6\frac{nm_t}{m} - m^{-3/2}n^2(2m_t - m_{xt}), (18)$$

then solving m_{xx} from (17) and substituting it into (18), we obtain

$$n_{t'} = -n_{x'}(4u + 4u_x) - 2m^{-1/2}n^2(u + u_x - m)$$

= $-4n_{x'}m^{1/2}(v - m^{1/2}) - 2n^2(v - 2m^{1/2})$
= $-(n(v^2 - v_{x'}^2))_{x'}$.

Therefore the theorem is proven.

3 Reciprocal Transformation of the System (5)

In this section, we will consider a reciprocal transformation for the system (5). We have known that the CH equation and the ORQ equation are connected with the first negative flow of the KdV hierarchy by two different reciprocal transformations. Although the system (5) may be considered as the linear combination of the two equations, the spectral problem of it is changed, and we need a new reciprocal transformation.

Equation (5) has a Lax $\operatorname{pair}^{[22]}$

$$\varphi_x = \frac{1}{2} \begin{pmatrix} -1 & \lambda m \\ -k_1 \lambda m - \lambda k_2 & 1 \end{pmatrix} \varphi, \qquad (19)$$

$$\varphi_t = \begin{pmatrix} A & B \\ C & -A \end{pmatrix} \varphi, \qquad (20)$$

where $\varphi = (\varphi_1, \varphi_2)^{\mathrm{T}}$ and

$$A = -\frac{1}{\lambda^2} - \frac{1}{2}k_1(u^2 - u_x^2) - \frac{1}{2}k_2(u - u_x),$$

$$B = \frac{1}{\lambda}(u - u_x) + \frac{1}{2}\lambda m[k_1(u^2 - u_x^2) + k_2u],$$

$$C = -\frac{1}{\lambda}(k_1(u + u_x) + k_2) - \frac{1}{2}\lambda[k_1^2m(u^2 - u_x^2) + k_1k_2(mu + u^2 - u_x^2) + k_2^2u].$$

Moreover, setting $a = (1/2)\sqrt{k_1m^2 + k_2m}$, it is not hard to find from above Lax pair that the system (5) has a conservation law

$$a_t = (a(k_1(u^2 - u_x^2) + k_2 u))_x,$$

which defines a reciprocal transformation

$$dy = a dx + a(k_1(u^2 - u_x^2) + k_2 u)) dt$$
, $d\tau = 4 dt$. (21)

Under the transformation (21), the Lax pair (19)–(20) equals to the scalar form

$$\frac{1}{k_1 m + k_2} (2\partial - 1) \frac{1}{m} (2\partial + 1) \varphi_1 = \mu \varphi_1 , \qquad (22)$$
$$\varphi_{1t} = \left(k_1 (u^2 - u_x^2) + k_2 u - \frac{2(u - u_x)}{\mu m} \right) \varphi_{1x}$$
$$+ \left(\frac{1}{\mu} - \frac{u - u_x}{\mu m} + \frac{1}{2} k_2 u_x \right) \varphi_1 , \qquad (23)$$

where $\mu = -\lambda^2$.

Under the transformation (21), the Lax pair (22)–(23) is transformed to

$$\frac{1}{k_1m + k_2} \left(\frac{4a^2}{m} \partial_y^2 + 4a \left(\frac{a}{m} \right)_y \partial_y - \frac{m + 2am_y}{m^2} \right) \varphi_1$$

$$= \mu \varphi_1, \qquad (24)$$

$$4\varphi_{1\tau} = \left(\frac{1}{\mu} - \frac{u - au_y}{\mu m} + \frac{1}{2} k_2 au_y \right) \varphi_1$$

$$- \frac{2a(u - au_y)}{\mu m} \varphi_{1y}. \qquad (25)$$

Then after the gauge transformation $\varphi_1 = \sqrt{m/a} \phi$, the Lax pair (24)–(25) is transformed to

$$\begin{split} \phi_{yy} + R\phi - \mu\phi &= 0 \,, \\ \phi_{\tau} &= \frac{1}{2\mu} \Big(p\phi_y - \frac{1}{2} p_y \phi \Big) \end{split}$$

where

u = au

$$p = -a\frac{a^2 - aay}{m},$$

$$R = -\frac{3m_y^2}{4m^2} + \frac{m_y a_y - m_y + am_{yy}}{2ma} + \frac{a_y^2 - 1 - 2aa_{yy}}{4a^2}$$

Direct calculation shows that $R = -(p_{yy}/2p) + (p_y^2/4p^2) - (1/4p^2)$, so the CH type system (5) is transformed to the first negative flow for the KdV hierarchy

$$R_{\tau} = p_y, \quad R = -\frac{p_{yy}}{2p} + \frac{p_y^2}{4p^2} - \frac{1}{4p^2}.$$
 (26)

In what follows we will discuss the reduction of the transformation (21). We only consider the case of $k_1 = 0$ and the case of $k_2 = 0$ is similarly to which of $k_1 = 0$. In this case, the hybrid CH-ORQ equation is reduced to

$$u_t = k_2(2u_xm + um_x), \quad m = u - u_{xx},$$

and the reciprocal transformation is reduced to

$$dy = \left(\frac{1}{2}\sqrt{k_2m}\right)dx + \left(\frac{1}{2}\sqrt{k_2m}k_2u\right)dt, \quad d\tau = 4dt.$$

Therefore the equation and the transformation equal to which of the CH equation up a scaling for τ .^[23]

References

- R. Camassa and D.D. Holm, Phys. Rev. Lett. **71** (1993) 1661.
- [2] R. Camassa, D.D. Holm, and J.M. Hyman, Adv. Appl. Mech. **31** (1994) 1.
- [3] B. Fuchessteiner and A.S. Fokas, Physica D 4 (1981) 47.
- [4] B. Fuchessteiner, Physica D **95** (1996) 229.
- [5] J. Lenells, IMRN (International mathematical Research Notices) 71 (2004) 3797.
- [6] A. Constantin, J. Funct. Anal. 155 (1998) 352.
- [7] A. Constantin, Proc. R. Soc. London A **457** (2001) 953.
- [8] J. Lenells, J. Nonlinear Math. Phys. 9 (2002) 389.
- [9] A. Boutet de Monvel, A. Kostenko, D. Shepelsky, and G. Teschl, SIAM J. Math. Anal. 41 (2009) 1559.
- [10] Y.S. Li and J.E. Zhang, Proc. R. Soc. Lond. A 460 (2004) 2617.
- [11] Z. Qiao, Commun. Math. Phys. 239 (2003) 309.
- [12] F. Gesztesy and H. Holden, Rev. Mat. Iberoamericana 19 (2003) 73.

- [13] R. Hernández-Heredero and E.G. Reyes, J. Phys. A: Math. Theor. 42 (2009) 182002.
- [14] R. Beals, D.H. Sattinger, and J. Szmigielski, Inverse Problems 15 (1999) L1.
- [15] R. Beals, D.H. Sattinger, and J. Szmigielski, Adv. Math. 154 (2000) 229.
- [16] P.J. Olver and P. Rosenau, Phys. Rev. E 53 (1996) 1900.
- [17] J. Schiff, J. Math. Phys. 37 (1996) 1928.
- [18] Z. Qiao, J. Math. Phys. 47 (2006) 112701.
- [19] A.N.W. Hone and J.P. Wang, J. Phys. A: Math. Theor. 41 (2008) 372002.
- [20] Z. Qiao and X.Q. Li, Theor. Math. Phys. 167 (2011) 584.
- [21] G.L. Gui, Y. Liu, P.J. Olver, and C.Z. Qu, Commun. Math. Phys. **319** (2013) 731.
- [22] Z. Qiao and B.Q. Xia, Front. Math. China 8 (2013) 1185.
- [23] A.N.W. Hone and J.P. Wang, Inverse Problems 19 (2003) 129.